EARAROBEEIERT — 2 N— IBISH —F

2017558250 (k) AEIEMHSH

IPER =< 5 AIZEB1 5%R4KLE (w8 | mEmml - |5 0 v s
[AE4£] 1 7% :900,000" ~ 23%&:216,000  ~ 33#&:108,000 @ . 47#&:72,000 @ 5 & :54,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
- ENEE :29. -8-8- . — Rz (i)
ilsl5|mr—5—517F it 5 = 1(2_9)1 8-8-8-8 | 38.2 4 (4_816) e
LN—=VT54 B:ox—82—iN1/5— RAREHS
5= 2 i 4 | TRE 1:29.2 7-7-3-3 | 38.3| — 1 473 | FFHE (ER)
2| 8| EINY 5.0 @/4) p |EEEME
R:TIRAFTEN B:TFLETIVYT ¥H fEF
D # o5 | JIRE— 1:29.3 2-2-1-2 | 38.7| — 6 472 | EIRIEIRE (EEHR)
3l7|l9 | PTHEYTa 56.0 (1/2) @3y | —HER
Z:Aa—-Lvisrf4a B:Fai T AV ELRT7—L
A = AFfE : 56— — Mg (Em)
4 47— T 0T o9 i 1(.12/92.)4 5-5-6-4 | 38.6 5 (5_025) mméﬁ
L:770—F BFAIILFT PNCTie]
e = N 4 | BFE :29.4 1-1-2-1 |38.8| — 2 480 | RFIRF (EH)
5 3| 77kavY # 54.0 (NF) (Hg) | W) Fn2a—FRL—a>
R:Zg—Yrino—x B:OyIn—HY FrEtre
s 7 | TThEt 1:29.5 6-6-10-7 |38.5| — 3 460 | ME (Fh)
611|737 54.0 (1/9) o) |EEE
RHIRG4TTZ BNYRLTY — Tr—3 Y %4
= 5 4 o5 | REBER 1:29.7 10-9-9-11 | 38.5| — 9 469 | EFIER (FEfH)
71810/ 7712V H2R 56.0 (3/4) 2 (F];—JPNHEH
R:TA—FAFAF =YL BedHFFIO iy i
RYEEEEEN REFR :29. 47~ . - el (E/)
8 0| KTEYTULZ # 6 ey 1(12/92)8 4-4-7-4 | 39.1 11 ;1_514) L
R:TT2aT145—74>9 B:RU—=F4y bk J—ZAA=F>
. _ 5 49 | KEAE 1:29.8 11-10-5-6 | 38.8 | — 7 486 | AEE= (EH)
9 7 =1 g 56.0 (7527) ) EHS
A= Nh7x B:ZXU—=F4&vh J—2H—F>
N . sy 12 mfEA : -11-11— = EBHEZ (BE)
10 6 L e AL 4 8 e 1.(340).5 9-11-11-10 | 39.1 10 (4_477) g
L:wiNyBLhTr BRIAMFTTFv R %3 & AEMABS
S, o 7 | KUEE 1:30.9 3-3-4-9 |40.2| — 8 458 | H1TEERE (HH)
11811 F—ALT7>a> 560 @ 1/2) (g | dtairl—gs
LTRIAY R FBix—27-3 =
® I —F—@EBIERL
13=7r= 3,9,11,2,4,1,8,5,6,10,7
2= = 3,9,11,2,4,1,8,5,10,7,6
Jol=5r= 9,3,8,11,7,4,2,5,10,1,6
40—+— |3,9,8,(2,4),7,1,5,11,6,10
[ N3
BB 5 730M 714K 5-8 340M % E 5-7 680M 3EHE 5-8-9 1,920H
8 B 5 210M 5-9 750M B & 5-8 900M K31 5-8-9 14,520
8 140/ 8-9 340M B H 5-8 2,190M
9 200M

ABICOVWTRDTEEERROODE. TR LIV,




